HKCEE (1989) FARMING CONSTRAINTS

ai. Fish farming/duck rearing
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ii. market gardening
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a. Types of farming pattern: nucleated, linear, dispersed, planned

At Shek Po Tsuen : nucleated
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c. 
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Factors
Favourable factors
Map Evidence

Relief


lowland
<40m

contours widely spaced

Soil


Fertile alluvial
Rivers

Water supply


good
From reservoirs/streams/ponds

Labour supply


enough
From settlement

Market


large
From settlement, Yuen Long centre

Roads link to urban

Communication


good
Roads, secondary roads

Electricity


good
Power lines

Flood protection


present
Straightened river courses

Surface water storage


good
Ponds/rivers

Farming history


long
Walled villages

b. Farming constraints
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Factors
Constraints
Reasons

Rainfall


flooding
Lowlying relief in Yuen Long, poor drainage

Farm Size


· Small

·  Abandoned
· hilly relief & competition of land use for industrial, residential & commercial land use

· land use speculation

Farm Labour


small
Rural-urban migration of youngsters

HKCEE (1990) Mixed Farming

ai. Mixed farming = growing crops (Evidence: grain silo, wheat, stock tank )





 + rearing animals (Evidence: shearing shed, pastures)
(4)

aii. Extensive farming
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Characteristics
Mixed Farming
Map Evidence

Farm size


large
6-10km2

Field size (paddocks)


large
1/4 - 1 km2

Labour


small
1 farm house

Machines


large
Machinery shed

aiii. Soil Conservation
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Aim: protect the soil from wind & soil erosion and build up the soil fertility

Map Evidence: crop rotation, fallowing, pastures, controlled grazing, presence of paddocks, wind break

* For Qa, no marks will be given to merely copying the names in the figure.

b 
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Constraints (6 marks)

Rainfall
Low -> problem of drought

Relative Humidity
Low

Evapotranspiration rate
High

Sunshine
Strong (especially in Jan = summer)

Soil water budget
Deficit as evaporation > rainfall

Temperature
Low winter temperature

Water supply from stream
Not enough, only intermittent stream

* Soil water budget refers to the water in the soil.  Positive soil water budget if rainfall is greater than evapotranspiration

d. From Qc, the main constraint faced by the farmer is drought because of high ET,

   strong sunshine, low RH.
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  Solution: 1. To preserve more water




- irrigation from stream




- underground water




- construct water tank to store water



  2. Farming activities that cope with the given climate




- dry farming




- grow drought-resistant plants




- fallowing to prevent water lost



   3. Technology

- better weather forecast

- artificial rain

HKCEE (1991) Rice Cultivation in South China & Mixed Farming in Australia

ai. Cereal crop = rice
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aii.
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Physical Inputs
South China

Type of Climate
Subtropical (20-23.5oN)

Temperature
High (21oC)

Rainfall
High 1750-2000mm

Sunshine
Strong

=> Growing Season
Long

Relief
Not much lowland, except along coast

Water supply
Good, lots of rivers

Soil
Alluvial soil at river mouth = delta (Zhu Jiang)

aiii. & aiv.

Physical Factors
Constraints (5 marks)
Solutions (6 marks)

Rainfall distribution

Wet summer

Dry winter


Summer: flooding

Winter: drought
Flooding: drainage, build reservoirs

Drought: irrigation, grow drought-resistant crops

Relief


Hilly => insufficient lowland, small farm size
terracing

hot & wet climate


pests
pesticides

Soil


Thin soil on slopes
fertilizers

* Physical constraints should match with the requirement of rice cultivation

b. 
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S.China
Australia

Types of farming
Intensive
Extensive

Labour
Large
Small

Technology
Small
Large (machines, fertilizers …)

Capital
Small
Large

Ownership
Government
Private

Yield per hectare
Large
Small

Yield per man
small
large

HKCEE (1996) FARMING CONSTRAINTS

a. Favourable farming conditions
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Relief
Lowland

Water Supply
Large, from rivers

Location
Sheltered by hills = lowlying

Labour
Enough, from nearby villages

Communication
present (roads, footpaths)

Market
Large (nearby villages)

Reminder: Describe what you can see from the photos only

b.
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A
B

Technological level
low
Large

Location
Open
Sheltered/greenhouse

Capital investment
Low
Large

Labour investment
Large
Small

Risks
high
small

c. Reasons for abandoned fields

· small labour because of rural-urban migration (population movement)

· Labours go away because of low/unstable income, low living standard

· farmers don’t farm the farms because of speculation 

· or convert farmland into other uses, e.g. storing cargoes
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di. Urban encroachment = expansion of urban areas into rural areas

Urban areas:

large population 

· land supply is limited

Rural areas:

· To solve the problems in the urban areas, the government develops new towns in rural areas

· People move from urban to rural (process: rural-urban migration)

· Reasons: pull factors

· E.g. low land value, better environment, improved transport


(4)

dii. benefits

· more roads/facilities is built

· improved accessibility

· land value: low
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diii. problems

· urban encroachment -> more industrialization & urbanization in rural areas

· environmental problem: pollution

· surface: concrete-> runoff >infiltration => problem: flooding

· farm size: small -> productivity: small

· rental cost: large -> production cost: large
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